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QUESTION 1

Refer to the exhibit: A company acquires ten barcode scanners to run inventory tasks. These WiFi devices support
WPA2-PSK security only. The network administrator deploys a WLAN named scanners using the configuration shown in
the exhibit. What must the network administrator do next to ensure that the scanner devices successfully connect to
their SSID? 
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A. Set internal as the MAC authentication server group. 

B. Add scanner MAC addresses in user derivation rules. 

C. Enable L2 Authentication Fail Through. 
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D. Add scanner MAC addresses in the internal database. 

Correct Answer: D 

 

QUESTION 2

Users run Skype for Business on wireless clients with no WMM support over an Aruba Mobility Master (MM) - Mobility
Controller (MC) based network. When traffic arrives at the wired network, it does not include either L2 or L3 markings. 

Which configuration steps should the network administrator take to classify and mark voice and video traffic with UCC
heuristics mode? 

A. Enable WMM in a VAP profile, and explicitly permit voice and video UDP ports in a firewall policy. 

B. Confirm OpenFlow is enabled in the user role and VAP profile. Then enable WMM in a SSID profile, and explicitly
permit voice and video UDP ports in a firewall policy. 

C. Confirm the MC is the Openflow controller of the MMs and Openflow is enabled in VAP and firewall roles. Enable
Skype4Business ALG in UCC profiles. 

D. Confirm MM is the Openflow controller of MCs and Openflow is enabled in VAP and firewall roles. Enable
Skype4Business ALG in UCC profiles. 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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An Aruba network is deployed with L2 and L3 Mobility Master (MM) redundancy across two datacenters, as shown in
the exhibit. The network administrator confirms that all Mobility Controllers (MC) are currently communicating with MM1,
which is the L2 Active and, L3 Primary. 

Which MM IP will MCs communicate with if MM1 fails? 

A. 10.1.1.10 

B. 10.1.1.12 

C. 10.2.1.10 

D. 10.2.1.21 

Correct Answer: C 

 

QUESTION 4

Refer to the exhibits. 

HPE6-A79 PDF Dumps | HPE6-A79 Exam Questions | HPE6-A79 Braindumps                                5 / 8

https://www.pass4itsure.com/hpe6-a79.html
https://www.pass4itsure.com/hpe6-a79.html
https://www.pass4itsure.com/hpe6-a79.html


https://www.pass4itsure.com/hpe6-a79.html
2024 Latest pass4itsure HPE6-A79 PDF and VCE dumps Download

HPE6-A79 PDF Dumps | HPE6-A79 Exam Questions | HPE6-A79 Braindumps                                6 / 8

https://www.pass4itsure.com/hpe6-a79.html
https://www.pass4itsure.com/hpe6-a79.html
https://www.pass4itsure.com/hpe6-a79.html


https://www.pass4itsure.com/hpe6-a79.html
2024 Latest pass4itsure HPE6-A79 PDF and VCE dumps Download

A network administrator deploys User Based Tunneling (UBT) in a corporate network to unify the security policies
enforcement. When users authenticate with 802.1X, ClearPass shows Accept results, and sends the Aruba-User-Role
attribute as expected. However, the AOS-CX based switch does not seem to build the tunnel to the Mobility Controller
(MC) for this user. 

Why does the switch fail to run UBT for the user? 

A. The switch has not fully associated to the MC. 

B. ClearPass is sending the wrong Vendor ID. 

C. The switch is not configured with the gateway-role. 

D. ClearPass is sending the wrong VSA type. 

E. The switch is not configured with the port-access role. 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 

A network administrator deploys DSCP based prioritization in the entire wired network to improve voice quality for a SIP-
based IP telephony system used by the company. However, users report that calls they make from WLAN have poor
audio quality, while desktop phones do not experience the same problem. The network administrator makes a test call
and looks in the datapath session table. 

Based on the output shown in the exhibit, what is one area that the network administrator should focus on? 

A. UCC based DSCP correction 
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B. WMM support on the WLAN 

C. Dynamic Multicast Rate Optimization 

D. wired network congestion 

Correct Answer: D 
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